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« CSV=Comma Separated Values
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S python

Python 2.7.11 (default, Dec 15 2015, 19:21:39)

[GCC 4.2.1 Compatible Apple LLVM 7.0.2 (clang-700.1.81)] on darwin
Type "help", '"copyright", "credits" or "license'" for more
information.
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>>> dmport numpy as np
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>>> from sklearn.decomposition import PCA




T — R D5 AN A

e numpyZxHH L TCSVT 7 A1 L% 5t IA A

>>> data = np.loadtxt('scores.csv', delimiter="',")
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>>> name = ['Tanaka', 'Sato', 'Suzuki', 'Honda', 'Kawabata'

'Yoshino', 'Saito']
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>>> data

KEICEBAZZANNT 5 ENBERTT S

cBETFDANDT — X ZHE

>>> data[name == 'Tanaka']




F AP O

« TR D TEs DR

3

>>> pca = PCA(n_components = 2, whiten = False)
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>>> pca.fit(data)
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>>> pca.n_components_
>>> 2
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>>> pca.explained_variance_ratio_
>>> array([ 0.6688013 , 0.28791087])
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>>> pca.components_
>>> array([[-0.04318455,-0.11661043, 0.55136578, 0.60073709, 0.56537406],
[-0.84543226,-0.51948621,-0.08791982,-0.08720053, 0.00667425]])
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>>> np.cumsum(pca.explained_variance_ratio_)
>>> array([ 0.6688013 , 0.95671218])
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B1ER | [[|-0.04318455( -0.11661043, 0.55136578, 0.60073709, 0.56537406],
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>>> x = pca.transform(data)
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>>> X
>>> array([[-21.21097689, -21.47715546],
[ 35.71460142, 11.68959258],
[-42.0704435 , -10.53162768],
[-22.74370588, 37.14882026],
[-21.22256751, -8.3637958 ],
[ 27.54978153, 16.81652223],
[ 43.98331082, -25.28235614]])
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>>> from matplotlib import pyplot
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>>> pyplot.ion()
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>>> pyplot.clf()
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>>> colors = [pyplot.cm.hsv(0.1 *x i,1) for i 1in range(len(name)) ]
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>>> for 1 1in range(len(name)):
pyplot.scatter(x[1,0], x[1,1], c=colors[i], label=namel[i])
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>>> pyplot. legend()
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